COAL INDIA LIMITED

RECRUITMENT OF MANAGEMENT TRAINEES 2016-17

MODEL QUESTIONS FOR PAPER-1 :COMMON FOR ALL DISCIPLINES

ENGLISH:

Q1 What is the least number which when divided by 24, 96 and 84
leaves remainder 8 in each case?

QL OA | 344

QL OB | 664

QL OC | 672

Q1 OD | 680

Q2 A sum of money becomes X 2016 in 2 years and ¥ 2124 in 3 years,
at simple interest. What is the sum of money?

Q2_OA | %1700

Q2_0OB | %1740

Q2_0OC | %1800

Q2_OD | %1980

Q3 A train 120 m long is moving at a speed of 126 km/h. It crosses a
train 150 m long moving in the same direction on parallel tracks in
27 seconds. What is the speed of second train?

Q3_OA | 85km/h

Q3 OB | 90 km/h

Q3_0OC | 105 km/h

Q3 OD | 110km/h

Q4 The ratio of 12" term to 15" term of a G.P. is 8 : 1. What is the
common ratio of G.P?

Q4_0A | 2




Q4 0B [ 1
V2

Q4 OC | 2

Q4oD |1
2

Q5 A spherical balloon of radius 120 cm subtends an angle of 60° at
the eye of an observer. If the angle of elevation of its centre is 60°,
what is the height of the centre of the balloon?
(Assume that eye of observer is at the level ground.)

Q5 OA | 120cm

Q5_0OB 120v2 cm

Q5_0C | 120V3 cm

Q5_0D 120(\/5 + 1) cm

Q6 Select the related word from the given alternatives.
Book : Paper : : Furniture : ?

Q6_OA | Wood

Q6 OB | Table

Q6 _OC | Chair

Q6 _OD Carpenter

Q7 A mother is three times as old as her daughter. Four years ago, the
mother was four times as old as her daughter then was. The present
age of the daughter is?

Q7_OA | 10years

Q7_OB | 12 years

Q7_0OC 13 years




Q7 _OD

14 years

Q8

If in a certain code language CLOCK is written as DMPDL, how
DELHI will be written in the same code?

Q8 OA | IHLED

Q8 OB | CDKGH

Q8 OC | EFMIJI

Q8 OD | EFMUJ

Q9 Kapil going to market from his house, walks 20 meters towards
North. He turns right and goes 15 meters. Then he turns right again
and walks 20 meters to reach the marketing complex. In which
direction is Kapil now from his house?

Q9 OA | East

Q9 OB West

Q9 OC North

Q9 OD | South

Q10 Identify the diagram that best respects the relationship among
classes given below:
Females (F), Sisters (S), Teachers (T)

Q10_OA

® © O

Q10 OB




Q10_OC

OJO,

PG

Q1 g8 OIS ¥ oI TEar Fa1 8, 99 24, 96 d2ar 84 @
Fod aa W y3s BT 7 8 AV g9dr g2

QL OA | 344

Q1 OB | 664

Q1_0C | 672

Q1. OD | 680

Q2 Ueh T TTUROT AT T T & 2 aut & T 2016 &
ST &, gur 3 aut # T 2124 g Jay g1 9g iy
fepaetr &7

Q2_OA | 7 1700

Q2_0B | 7 1740

Q2_0C | 7 1800




Q2 _OD

% 1980

Q3 Teh JeEmeT ST a9 120 m &, 126 km/h &7 a1l
T Iol ET ¢l Ig Yeemer, 341 fger 7 gFaR seRar &
ST & 150 m ey q@dr ¢of &l 27 QU8 H IR Ll
g1 gadr Yeremdr fr arer foraen &7

Q3_OA | 85 km/h

Q3_OB | 90 km/h

Q3_0C | 105 km/h

Q3_0D | 110 km/h

Q4 forell G.P (qouica® AoM) & 129 qr 153 ual o
39T 8 : 1 81 G .P &l &G 34T (common ratio)
T 87

Q4 OA | 2

Q4 0B | 1
V2

Q4 OC 2

Q40D | 1
2

Q5 Ueh JMellhR I[eaRT Toraeht f3sar 120 cm &, T Yaieh

hr 3@ 9X 60° T HI0T GfaTd T g1 Al eI &
$g F 3eaeT FIOT 60° §, AT AR & g 1 AT
frdelr 87




(AT NTAT U7 FT @ ERTdT AT TAg W &)

Q5_OA | 120 cm

Q5_ 0B | 120v2cm

Q5.0C | 120v3cm

Q5.0D | 120(v2+1)cm

Q6 feu v fashedt A& @ FafT s AT
qEdh : PETST : Bl ;7

Q6_OA | Fradr

Q6_OB | A

Q6_0C | it

Q6_OD | wgs

Q7 Tsh AT & Y 3R I & ofieT I 31w g IR av
qd, AT T MY 3G G B Y F IR AT A N
T IIATT 3T &

Q7_OA | 10 a¥

Q7_OB | 12 a¥

Q7_0C | 13 ay

Q7_OD | 14 a¥




Q8

ferdl speesT # CLOCK & DMPDL for@r Sirer g, dr
3T FeH™T # DELHI Y fhd gohR forgr Siem?

Q8_OA | |HLED

Q8_OB | CDKGH

Q8_0C | EFMUI

Q8_OD | EFMIJ

Q9 T 3T T F TR & T [RAerctat 0 Hed 3c]
1 3R T 8] TF S AL 23 FI oA | Tob:
el HSH, SR Hepel qgaﬁr & forw 0 #Hrex Torar g
Hidel 3 379 8 & foha feem # g7

Q9 OA | g&

Q9_OB | ufygs

Q9_0C | z=a%

Q9_OD | zfayor

Q10 38 AT F uganiaw, S rnfaf@a get & g9y &
ASSAH I F Jeid T g
AfgaTT (F), 981 (S), et (T)

Q10 OA

® ©




Q10_OB

Q10 OC

OJO,

Q10 _OD @@@

COAL INDIA LIMITED
RECRUITMENT OF MANAGEMENT TRAINEES 2016-17

MODEL QUESTIONS FOR PAPER-MINING ENGINEERING(Post Code 11)

ENGLISH:
Ql Blasting Gallery method is most suitable for:
Q1_OA | Thin seams
Q1 OB | Thick seams
Q1 OC | Flat seams
Q1 OD | Steep seams
Q2 Generally flow of air in the mines is:
Q2 OA | laminar
Q2 OB | turbulent




Q2 OC | smooth

Q2 OD | circular

Q3 Permissible limit of airborne dust as per CMR-1957.

Q3 OA |3 mg/ m? (% of free silica is less than 5)

Q3 OB [5mg/m3

Q3 _OC |3 mg/ m? (% of free silica is more than 5)

Q3 OD |15mg/m3

Q4 A large mining company is faced with problem of allocating
resources to its newly set up limit, because of some practical
constraints like limited availability of resources, time, man hours et.
Which technique can help to solve the problem?

Q4 OA | simulation

Q4 OB | game theory

Q4 OC | decision tree

Q4 _OD | linear programming

Q5 What should be the water requirement in hydraulic mining method,
if the dip of the seam is more than 4597?

Q5 OA | 1m3/ton of coal

Q5 _OB | 2m3/ton of coal

Q5_OC | 4m3/ton of coal

Q5 OD | 6m?3/ton of coal

Q6 What is the relation between break-even stripping ratio (BESR) and
ordinary stripping ratio (OSR)?

Q6 _OA | BESR < OSR

Q6 _OB | BESR = OSR




Q6_OC | BESR > OSR

Q6 _OD | norelation

Q7 A high interest, high capital and short term loan is obtained to open
an underground coalmine in a flat seam. The deposit is at a depth of
100 m under prime agricultural land. What is the best option for
mining the seam?

Q7 _OA | Board and pillar with stowing

Q7 _OB | Advancing longwall with stowing

Q7 _OC | Retreating longwall with stowing

Q7 _OD | Board and pillar with caving

Q8 Total productivity is defined as the ratio of:

QS_OA Aggregate Input
Aggregate Output

Q8 OB | Aggregate Output

Labour Input

Q8 OC Aggregate Output
Aggregate Input

QS_OD Aggregate Output

Capital Input

Q9 The quantity of explosive required to blast 10 holes with 5.0 m
burden, 6.0 m spacing, 10 m hole depth, 2.5 m Specific gravity and
5t/kg powder factor will be:

Q9 OA | 1000 kg

Q9 OB | 1500 kg

Q9 OC |1750kg

Q9 OD |3750kg

10




Q10

The analysis of a sample of air from old working is reported as O»-
15%, CO2-2.8%, CH4-4.3%, N2= 77.9%. Find the percentage of air and
blackdamp in the sample as well as the composition of blackdamp
assuming the air to contain 20.95%, O, 0.03% CO; and 79.02% N..

Q10 OA

N2-86%, CO2-14%

Q10 OB

N2-87%, CO2-13%

Q10 _OC

N2-88%, CO2-12%

Q10 OD

N2-89%, CO2-11%

HINDI

Ql selTieeaT Aoy fafer fohaeh forw @ 3uged g2
Q1_OA Jae urat

Ql_OB TS gt

Ql_0OC AdS 9al

Ql1_0OD AT 9Lt

Q2 GeTeT H TTHATI: I T JdTg glarg:

Q2 0A | =aira

Q2_OB B3]

Q2_0C =raer

Q2_0D TedThT

Q3 HITHR-1957 o 3THR argaTiee €el &l Tdiehrd HAT:
Q3_OA 3 TR / & (e Raferenr 1 ufderd s A s )
Q3_0OB 5 fRam / A3

Q3_0C 3 TR / #Ar (Fer Raferet s ufaerd s @ 3w §)
Q3_0D 15 TR / 73
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Q4 Ueh §81 Wolel hUail ! 3Te AT TATTUT AT & folT Farer=At
% 3T T FHEIT T HIHAT AT 95 T6T & Toraent HROT Fe
SITAEIR AT S ATAT bl JITAT ST, T, HTI
& gue 31fe §1 it Y dhelieh THETT AT gl il H AT
X Hhdll g7

Q4_OA 37eThI0T

Q4_0OB @;ﬁ@ﬁ'

Q4_0C foroter gar

Q4_0D Y& gt

Q5 e o &1 e 450 W 31T § A grsgifores @alel fafr
3TaeTh UTeAT hl ATAT fohclell gleil ATRU?

Q5_OA PIgel T 1FH3/TT

Q5_08B PIgel T 2H3/TT

Q5_0C Il T 4FH3/TT

Q5_0D Il BT 6H/TaT

Q6 AT, JUFRT T (NSTHIR) AR AAT
JYFHIOT 34T (HTVHIR) o s AT Hoel=e 82

Q6_OA BESR < OSR

Q6_OB BESR = OSR

Q6_0C BESR > OSR

Q6_0OD ﬁé‘mﬂaﬁﬁ

Q7 Teh HHTS TRl H Teh ${[HIT el I TeTeT Felled o folv 3T
TSl & TR T2 Goll, AT & foIT HOT & &I H ol ST B |
STHT HET Y A o el 100 HIET T IGUS W g | R &
Yool T Y 3TST [dhed il AT 8 ?

Q7_OA TSI & AU 1S 3R ook

Q7_0B FIZ3T & AT SeoTcd &l ST
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Q7_0C TSI & T SITE BISC gV o<l T3Sl

Q7_0D 9T & Y 15 3N Woer

Q8 el 3cdTCaT ohl fehdeh 3eTUTel & & & ITREATNC FohaT STl &2

BOA | S o g T T

808 | Aovssne 0ok g s o

T A e

Q8_OD Ags;‘;glf:lfp“::’“‘ el HT3CYE/ Yol $TYC

Q9 5.0 HI $1I, 6.0 FT 31918, 10 71 g 3188, 2.5 71 fafrse aca
3R 5ee1/fham 91387 R aTel 10 TGT l seliee Hlat & folv
3TaeTe [AThIceH Sl ATAT &:

Q9_OA 1000 ferar

Q9_OB 1500 ferar

Q9_0C 1750 ferar

Q9_0D 3750 foharm

Q10 frwa wrifeadt & ot forw 910 ary & S¥oEAT o1 fa2elwor 0,-
15%, C0O,-2.8%, CH4-4.3%, N,= 77.9% & &9 H [hATIRT & | T§
HITd §U T AT # 20.95%, Oz, 0.03% CO2 3R 79.02% N2 &,
AHAT H AT R SelehsT FTTAT & TTY AT SelshsT hT A=A
AT HITSAT|

Q10 OA | N;-86%, CO,-14%

Q10 OB | N,-87%, CO,-13%

Q10_OC | N,-88%, CO,-12%

Q10_0OD

N2-89%, CO2-11%

13



